£| ’ Power needs cont

rol

SOLID GSX Enclosure system

CP X-3 E46

(ostony do EB

Mounting instructions
Montage anleitung
Navodilo za montazo
Instrukcje montazu
Upute za montazu
Montazni navod
Navod na montaz
Szerelesi utmutato
Montavimo instrukcija
MHCTpyKUMSA 32 MOHTaX
Montazas instrukcija

POREDRAREPLRS

cover for EB2/ED2 400/630 3P/4P

2/ED2 400/630 3P/4P)

CP 1-3E46 001339300
3 =

001339301

@& C€

CP 2-3E46 001339302 CP 3-3E46 001339304

750 mm g

Paigaldusjuhend
18 o (Ol =— o vo 18
17 - oo o7 e} oo 17
S ° o o °
16 F 0o 0|16 16/0 16
15 o o —~—|O|15 15/0|—=— ) 15
oo o o
14 @oo T=—|0J14 140|—=— 14
13 oo op13 =& Eo}l— 130 13
12 & oo ol12 120 oo 12
o o o °
11 00 Oj11 110 oo 11
10 oc —-—|O10 @ @ 10|O|—=— o o @p 10
R ©000 O o o 0 0008| |
9 = @oo T=—|0O|9 90— =1T"_ood@p 9
8 00 Ol 8 8|0 oo 8
A ° o R s °
7 o : o7 L 70 ol 7
6 0o O| 6 =~ AN —= 6 |O 6
° °| _ Closed °
5 {@os——=—|0[s5 ose 5|0 @} 5
oo o )
4 @oo J=—|0|4 4|0 4
3 00 Ol 3 3|0 3
=2 o o o o o o
2 A 0o Q| 2 2|0 oo 2
o ° = ° [}
1 BSIRS 01 =— Eo|— 1l o Al 1
Closed
Screwdriver flat-blade
(Wkretak ptaski)
Hole-position mﬁg
left-down
(Otwor-znacznik pozycji
lewy dolny rég)
Position 1 cut out / remove

(wyciaé / usungg)

EB2/ED2 400/630A 3P
EB2/ED2 400/630A 4P

-A1 A3
-Al A2

cut out / remove
(wyciaé / usungg)

Position 2

EB2/ED2 400/630A 3P + RD
EB2/ED2 400/630A 4P + RD

-B1,B3
-B1,B2

B20.03 [981029404

ETI Elektroelement d.o.0.

Obrezija 5, 1411 Izlake, Slovenia

Al A3
Vo () =)
B2 ((B1]] B3
kﬁod

Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077

e-mail: eti@eti.si_ www.etigroup.eu

1/4




£T’ P SOLID GSX Enclosure system
ower needs control

Position 1 Position 2

LG-V6-B SET x 3 LG-V6R-B SET x3
001341151 001341201
LG-V6-B SET LG-V6R-B SET
No. Type ETI Name Pcs. No. Type ETI Name Pcs.
1 |LG-V6-B-C Support 2 1 |[LG-V6R-B Support 2
2 |AST 4.8x9.5 Tapping screw 6 2 |LG-VBR-KK Support 2
3 |AW-RE 6 \Washer M6 DIN9021 Zn 2 3 |LG-V6R-LN Support 2
4 |AS-SH 6x10 Screw M6x10 DIN912 2 4 |AN-FSH 6 Nut flange serat M6 DIN6923 Zn | 2
5 |AW-RE 6 Washer M6 DIN9021 Zn 2
6 |AS-SH 6x10 Screw M6x10 DIN912 2
7 |AST 4.8x9.5 Tapping screw 6

_—WP-A

\

s P s

S » 5 » > siv s

S

_~—PM ...ELS46 K123

&)
N S N
s

S
S A2 S eSS S S

N

0
0? »
P 0
® P 0
4 0
0 0
0
2. © »
P 0
0
o
27 0
0 [N
A 0
3? o
D, [N

S

/@9@9@9@0@9@9@9@@@9@@@9@@@9@9@\

)
S

DeOcOoDcOcDe DD DD DD DD\
@)

S S S

©

(

B20.03 [981029404 ETI| Elektroelement d.0.0.  Obrezija 5, 1411 Izlake, Slovenia _Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 _e-mail: eti@eti.si _www.etigroup.eu 2/4




Power needs control

No. Type ETI Name Pcs.
1 |Included with EB2/ED2 Screw M6x100 DIN7985 Zn 4
2 |AW-R 6 Washer M6 DIN126 Zn 4
3 |AW-S6 Washer spring M6 DIN127 Zn 4
4 |AN-H 6 Nut M6 DIN934 Zn 4

No. Type ETI Name Pcs.
1 |Included with EB2/ED2 Screw M6x100 DIN7985 Zn 4
2 |AW-R 6 Washer M6 DIN126 Zn 4
3 |AW-S6 Washer spring M6 DIN127 Zn 4
4 |AN-H 6 Nut M6 DIN934 Zn 4

ETI Elektroelement d.o.o.

Obrezija 5, 1411 Izlake, Slovenia

Phone: +386(0)3 56 57 570

SOLID GSX Enclosure system

/PM ... ELS46 K123

PM ... ELS46 K123

Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si __www.etigroup.eu

3/4

B20.03 981029404



" ’ Power needs control

Breakers (EB) and switch disconnectors (ED)
montage in specified holes (colour points)

(Wytaczniki (EB) i roztgczniki (ED)

montowa¢ w otworach oznaczonych
odpowiednimi kolorami)

@ E82/ED2 400/630 3P

@ EB2/ED2 400/630 4P

Hole-position marker
left-down
(Otwor-znacznik pozycji
lewy dolny rég)

B20.03 981029404

A

ETI Elektroelement d.0.0. Obrezija 5, 1411 Izlake, Slovenia

SOLID GSX Enclosure system

PM 1 ELS46 K123

o o
O o o o o o o O
] o]
o o
] s}
o) (o)
o © o0 09
[e] o)
OO <)O
o O o O
o o
80 L] L] L] L] 08
o o
o L L
PM 1.4 ELS46 K123
e} [e]
O o L] .O. L] O o O
o] o
o) o)
o [e) (o]
o] o]
°° 00 O o 00 °©
O o o O
° 00 00 °
00 O O 00
o [e) (&)
O o)
80 L] . L] L] 8
o e} e} o
A Q L L
PM 2 ELS46 K123
e} o o ]
O o L] L] L] L] L] L] L] L] o O
(o] o
o) ] o o
(o] Q Q o O o O o (o]
[e) [e)
©920 o O OO0 0O ) 0 0°9
©°0 0 o O o) 0°9
o O O 00 00 o O le)
(o] Q Q o O o O o (o]
O o e} (e}
80 L] L] . L] L] L] . L] 08
o 9 9 o
] N !
PM 2.2 ELS46 K123
(o) e} 0 ]
O o L] L] L] L] L] L] L] L] o O
] [}
(o) (o) o (@]
o (o] o o o o o
(o] o
9°c o0 o O OO0 0O o o o °9
9° o O o 0 O o °9
e} o O oo 00 o O e}
o (o] o o o o o
[e] o) o (e}
80 L] L] L] L] L] L] L] L] 08
o O o o
o L !
PM 3 ELS46 K123
o o o o o o
OO L] L] L] L] L] L] L] [ ] L] . L] L] © O
o (o]
o) (] o) o)
(o] o O o O o O (e} (o]
o) (o]
go O 0O 00 O O O 0 00 o0 O Og
9° 0 0 O O O O 0O O @) o °9
o 00 00 O O O o 0o 00 O
(e} o O o O o O o (e}
o) (] o) o)
80 L] L] L] L] L] L] L] L] L] L] L] L] 08
o o o o o o
) L

Phone: +386(0)3 56 57 570

4/4

Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si __www.etigroup.eu




